PDF Compressor Free Version
Boden

HIGH PRESSURE GEAR PUMP

BAP2(BHP2]

$nf37% HOW TO ORDER

BA T P [ % [|ronoover [| Roion || Sze [| Shat || Pots | [Pors poson || Seals || Options
I I | | I |
Series P-pump | | Group 0 |[o] coowse |2
; Ports posiion
BA-Frontand | | M-Motor G el 3 Oit-Side et and side outet
= T i 0 B-Back nlet and front outet
aluminum R | Reversble 12 C-Brlickllnlet and side outiet
14 D-Side inlet and front outlet
B2 6 R-Back nlet and back outie
BH-Front and o) 18
end cover material 20 Drain
cast iron, 2 ] i
pressure than Qi Q0- intemal drain
“BA"series high 2% Q1-extemal drain G1/4
30 bar. ® 28 Q2-extemal drain 9/16-18 UNF
3 (13-extemal drain 7/16-20 UNF

Q4-external drain M12x1.5

Seals

Omit-Range between -10°C and +B0'C,inlet pressure up to max. 3 bar absolute.
V-Version suitable for fluid at hi-temperatures, range between -10'C and +120C.
H-Version suitable for fluid at low-temperatures, range between -40'C and +80°C.
T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.

N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

Options
Qeonst
SRR El e s 1 | e R B O A 1 | B | P L 1
| 1 | | ] | |
| i | | i i |
| PI = | P1 o] | | :l Fgl— |
] [ H b
; LT || 5 | : s |
—®& | =) || | =& ||
jI:k 1 | 1 I |
| ] | ] I |
| ] | ] I |
bessilemammal 0909090 leessmlseamasd | o memt | = sassen U
Pressure relief valve, Prassure relief valve. A o ot 3-way flow control valve.
Discharge retumed to suction. Discharge returned to externally. with pk;e squra rellot valve Excess flow returned to suction,
P1=5...250 bar. P1=5...250 bar. Excess flow retumed to s;uctlon. Qconst= 2...30 Limin.
P1=100...180 bar.
Ordering code_ Qeonst= 2...30 Limin.
[ Tieox
Examples:

BHP2-B0-D-3-T0-E0=  clockwise rotation, 3 cc/rev, BO front cover, 1:8 tapered shaft(T0), setting ports EO type, standard seals
BAP2-A0-D-3-C0-U0 = clockwise rotation, 3 ccfrev, AO front cover, CO parallel shaft, setting ports U0 type, standard seals

BHP2-Q0-D-3-T1-F0-N= clockwisa rotation, 3 cefrev, Q0 front cover, 1:8 tapered shaft{T0), sefting ports FO type, high pressure seals(N)



PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
M8 thread depth 13,M8 thread depth 17.
To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed
at 70...75 Nm.
Shaft M12x1.25 nut, with a torque
wrench setting fixed at 50 Nm.
QUTLET INLET
88 M 40
715 L 8 12
5 h 9nd H 135
A :
& -
8
?‘? = ,/@ﬁ\ ,/0‘\ —E|—
- é—r )& = = s {%f?\ o || L
. ~$/ - i P
- M12x1.25
o d D o =18
3,165 1%
ﬂ b B
b= AA
Type Displacement Max pressure Max. speed Min. speed Dimensions
| P | P | MlL|s H h
BHP2B0-D-3 3 270 285 300 4000 800 911 (436 [ 30 [ 13 | M6 | 30 | 13 | M6
BHP2B0-D4 4 270 285 300 4000 600 927 (444 | 30 | 13 | M6 | 30 | 13 | M6
BHP2B0-D-6 6 210 285 300 4000 600 96 | 46 |30 |13 [ M6 | 30 | 13 | M6
BHP2B0-D-8 B 210 285 300 3500 500 993 (477 | 30 | 13 | M6 | 30 | 13 | M6
BHP2B0-D-10 10 210 285 300 3000 500 1026|493 [ 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-12 12 210 285 300 3000 500 1059 | 51 |40 |20 [ M8 |30 | 13 | M6
BHP2B0-D-14 14 250 265 280 4000 500 1093|527 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-16 16 250 265 280 4000 500 127|544 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-18 18 250 265 280 3600 400 116 | 56 | 40 | 20 | MB | 30 [ 13 | M6
BHP280-D-20 20 220 235 250 3200 400 1193 |57.7 [ 40 | 20 | M8 | 30 | 13 | M8
BHP2B0-D-22 22 220 235 250 3000 400 1226 1593 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-25 25 200 215 230 3000 400 1276|618 | 40 | 22 | M8 [ 30 | 13 | M6
BHP2B0-D-28 28 180 190 200 2500 400 1326 (643 | 40 | 22 | M8 | 30 |13 | Ms
BHP2B0-D-30. 30 160 170 180 2500 400 1359 [ 66 | 40 | 22 | M8 | 30 [ 13 | M6




PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
M8 thread depth 16.
AT J‘ . To mount the pump, n.4 M10 screws,
‘& W) \ with a forque wrench setting fixed
-~ . at70...75 Nm,
(J @ . " |
2 4 1
A
&
QUTLET INLET
88 M
70 L
5 M8 9n4 Mg 135
A | ==9) I
3 1B / O
— ] b
gg 3 = e /0\
- — I AN
i séu- e =8 =~ 8 {% 0
A ‘g/ 5 o o ‘;ﬁ/ =
ML i I =
s d
m\\- =7 _@
|| N |
d D
A-A 86
0o 3 38
600
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2B1-D-3 3 270 285 300 4000 800 911 436 14 10
BHP2B1-D4 4 270 285 300 4000 600 921 444 14 10
BHP2B1-D-6 6 270 285 300 4000 600 % 46 14 10
BHP2B1-D-8 B 270 285 300 3500 500 993 477 14 10
BHP2B1-D-10 10 270 285 300 3000 500 1026 403 18 15
BHP2B1-D-12 12 210 285 300 3000 500 105.9 51 18 15
BHP2B1-D-14 14 250 265 280 4000 500 109.3 527 18 15
BHP2B1-D-16 16 250 265 280 4000 500 nart 544 18 15
BHP2B1-D-18 18 250 265 280 3600 400 116 56 18 15
BHP2B1-D-20 20 220 235 250 3200 400 183 5.7 18 15
BHP2B1-D-22 2 20 235 250 3000 400 1226 593 18 15
BHP2B1-D-25 25 200 215 230 3000 400 1216 61.8 20 15
BHP2B1-D-28 28 180 190 200 2500 400 1326 643 20 15
BHP2B1-D-30 30 160 170 180 2500 400 1359 66 20 15




PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
BHP2B2
M6 thread depth 13.
To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed
at70...75 Nm.
Shaft M12x1.5 nut, with a torque
wrench setting fixed at 50 Nm.
QUTLET INLET
90 3
72
72 9nd k L
T 125
Hi R -
ErE e
2| o 7 RS S
J_@_(I Mi2x1.5
" 15 % D 17 &
o W 35 M6 M6 40 8
o —
AA
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2B2-D-3 3 210 285 300 4000 800 914 399 15
BHP2B2-D4 4 210 285 300 4000 600 92.7 399 15
BHP2B2-D-6 ] 210 285 300 4000 600 9% 44 15
BHP2B2-D-8 8 270 285 300 3500 500 99.3 432 1h
BHP282-D-10 10 210 285 300 3000 500 1026 437 20
BHP282-D-12 12 210 285 300 3000 500 1059 475 2
BHP2B2-D-14 14 250 265 280 4000 500 1093 415 20
BHP2B2-D-16 16 250 265 280 4000 500 nay 415 20
BHP2B2-D-18 18 250 265 280 3600 400 116 415 20
BHP282-D-20 20 220 236 250 3200 400 1193 415 2
BHP2B2-D-22 2 220 235 250 3000 400 1226 55,1 20
BHP2B2-D-25 25 200 215 230 3000 400 1276 618 20
BHP282-D-28 2 180 190 200 2500 400 1326 64.3 2
BHP282-D-30 30 160 170 180 2500 400 1359 66 2




PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
*D" and "d" ports are machined in
compliance with threaded port with
O-ring seal in truncated housing
SAE J1926/1(1SO J1926-1).
v
Screws tightening torque Nm
40..45
70..75
OUTLET INLET
130 M ?
106.4 L 24
64
125
wA
=1 TR
R= (= . =
= ] g g @ B
e — ?'.a?
5
=,
d D
39798
2 AA
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2A-D3 3 m | 2 | a0 4000 80 o1 | 436 | 1 1G12UNF | TIB-14UNF
BHP2A0-D-4 4 210 285 300 4000 600 927 | 444 | 114642UNF |  7I8-14UNF
BHP2A0-D6 6 210 285 300 4000 600 9% | 46 | 11M612UNF | T/B-14UNF
BHP2A0-D-8 8 210 285 300 3500 500 993 | 477 | 1116-12UNF |  7/8-14UNF
BHP2A0-D-10 10 210 285 300 3000 500 1026 | 493 | 14/16-12UNF |  7/8-14UNF
BHP2A0-D-12 12 210 285 300 3000 500 1059 | 51 | 11/16-12UNF |  Ti8-14UNF
BHP2A0-D-14 14 250 265 280 4000 500 1093 | 627 | 14/16-12UNF |  7/8-14UNF
BHP2AD-D-16 16 250 265 280 4000 500 127 | 544 | 11146-12UNF |  7/8-14UNF
BHP2A0-D-18 18 250 265 280 3600 400 M6 | 56 | f146-12UNF |  7/8-14UNF
BHP2A0-D-20 2 20 285 250 3200 400 193 | 577 | 11M6-12UNF |  7/B-14UNF
BHP2A0-D-22 2 220 235 250 3000 400 1226 | 503 | 11/16-12UNF |  7/8-14UNF
BHP2A-D-25 2 200 25 230 3000 400 1276 | 618 | 11/16-12UNF |  7/8-14UNF
BHP2A0-D-28 23 180 190 200 2500 400 1326 | 843 | 14/16-12UNF |  7/8-14UNF
BHP2A0-D-30 30 160 170 180 2500 400 1359 | 66 | 15M46-12UNF |  TIB-14UNF




PDF Compressor Free Version

BHP2Q0

M6 thread depth 13.
To mount the pump, n.2 M10 screws,

with a torque wrench setting fixed
at 45.,50 Nm.

Shaft M12x1.5 nut, with a torque
wrench setting fixed at 50 Nm.

Boden

HIGH PRESSURE GEAR PUMP

OUTLET INLET
405
- L 275 13
10.6n.2 105
GA
:?
[ 4o 2 [\ 450 -
Pt P
g @ 7~ 'S Nl A =
] e o= ke
B i . 15
| | g ‘A
|
—
L@{ A Mi2x15
1
, 5 D 17 F_
3—D.D25
% % W6 M6 )
uy
A-A
Type Displacement Max pressure Max, speed Min. speed Dimensions
BHP2Q0-D-3 3 270 285 300 4000 800 886 374 15
BHP2Q0-D4 4 2 25 00 4000 600 %2 374 15
BHP2Q0-D-6 6 210 285 300 4000 600 935 386 15
BHP2Q0-D-8 8 200 285 300 3500 500 9.8 407 15
BHP2Q0-D-10 10 210 285 300 3000 500 100.1 412 2
BHP2Q0-D-12 12 210 285 300 3000 500 103.4 45 2
BHP2Q0-D-14 14 250 265 280 4000 500 106.8 4 2
BHP2Q0-D-16 16 250 265 280 4000 500 1102 45 20
BHP2Q0-D-18 18 250 265 280 3600 400 1135 45 2
BHP2Q0-D-20 20 20 23 250 3200 400 1168 4 2
BHP2Q0-D-22 2 220 25 250 3000 400 1204 526 2
BHP200-D-25 25 200 215 20 3000 400 125.1 593 2
BHP2Q0-D-28 2% 180 190 200 2500 400 130.1 618 2
BHP2Q0-D-30 N 160 170 180 2500 400 1334 635 20




PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
M6 thread depth 13.
To mount the pump, n.2 M10 screws,
with a torque wrench setting fixed
at 45...50 Nm.
Shaft M12x1.5 nut, with a torque
wrench setting fixed at 50 Nm.
OUTLET INLET
86 M 405
- 60 L 275 13
10.6n.2 10.5
A
=
Sy I o k) ) 450 -
<> NG <1
88 = =
= E v i 18— )
I | "%‘ é I \
[ . ~
LE-[ 4 w W15
1
3% : s 1 =15
? 35 M6 M6 40
ey
[= 1
AR
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2Q1-D-3 3 210 285 300 4000 800 88.6 34 15
BHP2Q1-D-4 4 270 285 300 4000 600 902 374 15
BHP2Q1-D-6 6 210 285 300 4000 600 935 386 15
BHP2Q1-D-8 8 270 285 300 3500 500 96.8 407 15
BHP2Q1-D-10 10 210 285 300 3000 500 100.1 412 2
BHP2Q1-D-12 12 210 285 300 3000 500 1034 45 20
BHP2Q1-D-14 14 250 265 280 4000 500 106.8 45 20
BHP2Q1-D-16 16 250 265 280 4000 500 110.2 45 20
BHP2Q1-D-18 18 250 265 280 3600 400 1135 45 2
BHP2Q1-D-20 20 220 235 250 3200 400 116.8 45 20
BHP2Q1-D-22 22 20 235 250 3000 400 1201 526 20
BHP2Q1-D-25 25 200 215 230 3000 400 1254 593 2
BHP2Q1-D-28 2 180 190 200 2500 400 130.1 618 2
BHP2Q1-D-30 30 160 170 180 2500 400 1334 63.5 2




PDF Compressor Free Version

BHP2Q2

M6 thread depth 13.
To mount the pump, n.2 M10 screws,

with a torque wrench setting fixed
at 45...50 Nm.
Shaft M12x1.5 nut, with a torque

Coupling Max, torque 70 Nm.

HIGH PRESSURE GEAR PUMP

OUTLET INLET
86 M
60 L
27 81tk 72
65 10602
i B /”,//:“:\0 J Bl
2 w — &.IJ g % é =
P
15 D
COUPLING
35 M6 8 12 M6 40
4 8
o] 8

Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P3 M L D
bar {tfmin) m
BHP2Q2-D-3 3 27 285 300 4000 800 886 74 15
BHP2Q2.D4 4 270 25 300 4000 600 902 374 15
BHP202-D-6 6 270 285 300 4000 600 935 386 15
BHP202-D8 8 270 285 300 3500 500 98 407 15
BHP202-D-10 10 270 265 300 3000 500 100.4 42 20
BHP2Q2-D-12 12 270 285 300 3000 500 1034 4 2
BHP202-D-14 14 250 265 280 4000 500 1068 45 20
BHP202-D-16 16 250 265 280 4000 500 1102 45 20
BHP202-D-18 18 250 265 280 3600 400 1135 45 20
BHP202-D-20 2 20 235 250 3200 400 1168 46 2
BHP202-D-22 2 20 25 20 3000 400 12041 526 2
BHP202D-25 % m | a5 | 2 3000 400 1251 593 2
BHP202:D-28 28 180 190 20 2500 400 1301 618 20
BHP202-D-30 30 160 170 180 2500 400 1334 635 20




PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
BHP2A0-R
'D" and “d" ports are machined in
compliance with threaded port with
O-ring seal in truncated housing
SAE J1926/1(ISO J1926-1).
To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed
at70...75 Nm,
OUTLET INLET
130 32 M
1064 2
6.4 48 125
T~ i
A, \\
: 5 f] N L i
= —] 8 —D = - ]
— Q i r; f—
s — = ; = e
—f / / - L
e T ge T 1§
L 1\ |‘/ @ —
=
3979 d D
S
AA
Type Displacement Max pressure Max. speed Min, speed Dimensions
_ | P2 i _ __ D d
BHP2A0-D-3R 3 270 285 300 4000 800 103.1 1116-12UNF | 7/8-14UNF
‘BHP2AD-D4-R 4 210 285 300 4000 600 1047 11146-12UNF | 7IB-14UNF
BHP2A0-D-6-R ] 270 285 300 4000 600 108 11/16-12UNF | 7/8-14UNF
'BHP2A0-D-8R B 270 285 300 3500 500 1113 11116-12UNF T/8-14UNF
BHP2A0-D-10-R 10 270 285 300 3000 500 1146 11118-12UNF T/8-14UNF
BHP2A0-D-12-R 12 270 285 300 3000 500 179 1 116-12UNF T/8-14UNF
BHP2A0-D-14-R 14 250 265 280 4000 500 1213 11118-12UNF T/8-14UNF
BHP2A0-D-16-R 16 250 265 280 4000 500 1247 1 1116-12UNF T18-14UNF
BHP2A0-D-18-R 18 250 285 280 3600 400 128 11116-12UNF T/8-14UNF
BHP2A0-D-20R 20 20 236 250 3200 400 1313 11116-12UNF T18-14UNF
BHP2A0-D-22-R 2 220 236 250 3000 400 1346 11118-12UNF T/8-14UNF
BHP2A0-D-25-R 25 200 215 230 3000 400 1396 11118-12UNF TI8-14UNF
BHP2A0-D-28-R 28 180 180 200 2500 400 1446 1 1116-12UNF T/8-14UNF
BHP2A0-D-30-R 30 160 170 180 2500 400 1479 1 1116-12UNF 718-14UNF




PDF Compressor Free Version

BHP2A0-Fx

Boden

HIGH PRESSURE GEAR PUMP

"D" and "d" ports are machined in
compliance with threaded port with
0-ring seal in truncated housing
SAE J1926/1(1SO J1926-1).

To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed
at70...75 Nm.

QUTLET INLET
130 M 3
125 1064 N
64 L
— £
. (]
== e Eis
E =
— g
= ‘*
86 d D
DP16/32-30° 11T
Type Displacement Control pressure Control flow Max. speed Min. speed Dimensions
Qe M N D d
BHP2A0-D-3-Fx 3 4000 800 121 | 436 | 921 | 1146A2UNF | 7IB-14UNF
BHP2A0-D-4-Fx 4 4000 600 137 | 444 | 937 | 11M6-12UNF | 7/B-14UNF
BHP2A0-D-6-Fx 6 4000 600 17T | 46 | 97 | 11M6-12UNF | 7/8-14UNF
BHP2A0-D-8-Fx 8 3500 500 1203 | 477 | 1003 | 11M16-12UNF |  7/B-14UNF
BHP2A0-D-10-Fx 10 3000 500 1236 | 493 | 1036 | 1116-12UNF |  7/B-14UNF
BHP2A0-D-12-Fx 12 3000 500 1269 | 51 [1069 | 1116-12UNF | 7IB-14UNF
BHP2A0-D-14-Fx 14 100..180 2.30 4000 500 1903 | 527 | 1103 | 1116-12UNF |  7I8-14UNF
BHP2A0-D-16-Fx 16 4000 500 1337 | 544 | 1137 | {1M6-12UNF | 7/B-14UNF
BHP2A0-D-18-Fx 18 3600 400 137 | 5 | M7 | 1116-12UNF | T7/8-14UNF
BHP2A0-D-20-Fx 20 3200 400 1403 | 577 | 1203 | 11/6-12UNF | 7/8-14UNF
BHP2A0-D-22-Fx 2 3000 400 1436 | 593 | 1236 | 1116-12UNF |  7I8-14UNF
BHP2A0-D-25-Fx 25 3000 400 1486 | 618 | 1286 | 1116-12UNF |  7IB-14UNF
BHP2A0-D-28-Fx 2 2500 400 1536 | 643 | 1338 | 11/B-12UNF |  7/B-14UNF
BHP2A0-D-30-Fx 30 2500 400 1569 | 66 | 1369 | 11/16-12UNF | T7/8-14UNF




PDF Compressor Free Version

9365558

Boden
HIGH PRESSURE GEAR PUMP
BHP2B0-FAx
M6 thread depth 13,M18x1.5 thread depth 14.
To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed
at 70...75 Nm.
Shaft M12x1.25 nut, with a torque
wrench setting fixed at 50 Nm.
1
|
|
|
1
1
|
|
1
1
OUTLET INLET
88 N
185 M 715 L 12
5 9nd
oh T s 5
/“' "’\ B
: /] ;
O): O |
— 5 L/ ‘o
e M12x1.25
R L U \é@ D =18
i M18x1.5 / M6 4
= AA
Type Displacement | Control pressure Control flow Max. speed Min, speed Dimensions
" BHP2B0-D-3-FAX 3 4000 800 1124 436 9.1 15
BHP2B0-D-4-FAx 4 4000 600 1137 444 97.7 15
BHP2B0-D-6-FAx 6 4000 600 117 46 101 15
BHP2B0-D-B-FAx 8 3500 500 1203 47 104.3 15
BHP2B0-D-10-FAx 10 3000 500 1236 493 1076 20
BHP2B0-D-12-FAx 12 3000 500 1269 51 110.9 20
BHP2B0-D-14-FAx 14 100...180 2.30 4000 500 130.3 52.7 1143 20
BHP2B0-D-16-FAx 16 4000 500 1337 544 177 20
BHP2B0-D-18-FAx 18 3600 400 137 56 121 20
BHP2B0-D-20-FAx 20 3200 400 140.3 51.7 124.3 2
BHP2B0-D-22-FAx 2 3000 400 143.6 59.3 1216 20
BHP2B0-D-25-FAx 25 3000 400 148.6 618 1326 20
BHP2B0-D-28-FAx 28 2500 400 153.6 64.3 1376 20
BHP2B0-D-30-FAx 30 2500 400 1669 66 140.9 2




PDF Compressor Free Version

HIGH PRESSURE GEAR PUMP
Pump with bearing, This option allows
radial and/or axial loads on the pump shaft.
M6 thread depth 18.
To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed
at70...75 Nm.
Shaft M14x1.5 nut, with a torque
wrenchs etting fixed ~ at 70 Nm.
|
L T
OUTLET INLET
9 M 45
72
9nd 13
<A . 192
€ oY T T
2
g8 N s N /] =
g \ % =
= - o g8 o O = - -
5 % é i H
o &
& L D) i M12¢1.5
15 D
4 =15
_-ﬁ; 35 M6 M6 40 95
AA
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP283-D-3 3 270 285 300 800 1231 79 15
BHP2B3-D-4 4 270 285 300 600 1247 719 15
BHP2B3-D-6 b 270 285 300 600 1280 731 15
BHP2B3-D-8 8 270 285 300 3500 500 1813 752 15
BHP2B3-D-10 10 270 285 300 3000 500 1346 751 20
BHP2B3-D-12 12 270 285 300 3000 500, 137.9 795 20
BHP283-D-14 14 250 265 280 4000 500 1413 795 2
BHP2B3-D-16 16 250 265 280 4000 500 1447 795 20
BHP283-D-18 18 250 265 280 3600 400 1480 795 20
BHP2B3-D-20 20 220 2% 250 3200 400 151.3 795 20
BHP283-D-22 2 220 2% 250 3000 400 1546 87.1 20
BHP2B3-D-25 25 200 215 230 3000 400 1596 938 20
BHP?B3-D-28 28 180 190 200 2500 400 164.6 96.3 20
‘BHP2B3-D-30 30 160 170 180 2500 400 167.9 98.0 20




PDF Compressor Free Version
Boden

HIGH PRESSURE GEAR PUMP

BHM2B0

M6 thread depth 13, M8 thread depth 17.
To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed
at70...75 Nm.

Shaft M12x1.25 nut, with a torque

wrenchsetting fixed at 50 Nm.

gi47
25
N\ : |
#d
| A
N
#6500
]‘E‘ i
A\

('T} e
e € i I8 é D
"X
2t
M12x1.25 Q_[
D o N d T D
=18 Gl -~
B 86 B
Pe=max peak input pressure
Pg=max pressure confinually as output counterpressure S KA
P = max peak input pressure continually
Type Displacement Max pressure Max. speed Min. speed Dimensions
2 | s 2| O - il | M L B D H
| b {tin) (tmin) moopm o mm o om
BHM2B0-R-3-Q1 3 280 270 295 4000 800 914 436 30 13 M6
BHMW2B0-R-4-Q1 4 280 270 295 4000 600 927 444 30 13 M6
BHM2B0-R-6-Q1 6 280 270 295 4000 600 %0 | 460 30 13 M6
BHM280-R-8-Q1 8 280 mn 25 3500 500 ¥ | 47 | ® 13 13
BHM2B0-R-10-Q1 10 280 270 295 3000 500 1026 | 493 40 20 M8
BHM2B0-R-12-Q1 12 280 270 295 3000 500 1059 | 510 40 2 M8
BHM280-R-14-Q1 14 260 250 275 4000 500 1003 | 527 40 20 M8
BHM2B0-R-16-01 16 260 250 275 4000 500 1127 | 544 40 2 1
BHM2BO-R-18-Q1 18 260 250 275 3600 400 1160 | 560 40 20 MB
BHM2B0-R-20-Q1 2 230 220 245 3200 400 193 | 517 40 20 M8
BHM2B0-R-22-01 22 230 220 245 3000 400 1226 50.3 40 20 M8
BHM2B0-R-25-Q1 % 210 200 25 3000 400 1276 | 618 | 40 2 Mg
BHM2B0-R-28-Q1 28 200 190 215 2500 400 132.6 64.3 40 2 M8
BHM2B0-R-30-Q1 30 180 170 195 2500 400 1359 | 660 40 2 M8




PDF Compressor Free Version

BAP2(BHP2)]

Boden

HIGH PRESSURE GEAR PUMP

FRONT COVER SHAFTS
75 135 40 35
9 s 12 % 30 .
w0 ) 3 =
e He e =
kS \\\r/ = :'-———
J =t )
O Q - E
<35 = & 4 DIN5482 B17X14
B0 S7
Max.Torque 200 Nm Max.Torque 135 Nm Max.Torque 150 Nm
70 135 & 40 14
9
e 3 %5
a B | m— i B
s \\ = =, & " !
.o r i ! 10
= L4151 Axd
G0
Max.Torque 150 Nm Max.Torque 185 Nm Max.Torque 100 Nm
72 125 B 3% 235
13 2 “ | o
g | ===
17 |
T " -
=3 = = DINSA82 BI7X14
[ (8
Max.Torque 180 Nm Max.Torque 150 Nm Max.Torque 150 Nm
80 405 14
31 106 72 13 i 2?7 | -
= M o M <
PIEEN : E =
*7 /[( / l_\\ % |r 3 @ — | ]
2 V | 1= |
o | o ULl S ' i '
¢ | = gl ™ " 10
=15 g 10
<7 3 DIN5482 B17X14
G0
Max.Torque 180 Nm Max.Torque 100 Nm Max.Torque 150 Nm




PDF Compressor Free Version
Boden

HIGH PRESSURE GEAR PUMP

BAP2(BHP2]

FRONT COVER SHAFTS

60 405 14

950 | %
|
@
95
__f_f
= 5
9165

8
m

P e 8 ' Y
=15 8 10
3
< 3
Qf G0
Max.Torque 180 Nm Max.Torque 100 Nm Max.Torque 150 Nm
60
l 106 72

60
14.3
oy
& X
|
$
g | ;
|
A
N
5 8

Max.Torque 100 Nm

1064 64 ® k) P
125 9 F
= Pl ] B!
i |
| | !
AN U = ] - |
=2 = =T 8 | | !
g| = | 1= ]
=) = 1 o8 T L g s o gle
1 ‘ ] E
=T = s
A 00
Max.Torque 140 Nm Max.Torque 160 Nm Max.Torque 180 Nm
.. % U5
] % =
j P |
1 I
TIE= TE =
1 m I E——
| 4 Ei & 2 | -
£ = " = = =
DP16/32-30° -8T DP16/32-30° ~11T DP16/32-30° 10T

Max.Torque 185 Nm Max.Torque 200 Nm Max.Torque 190 Nm




PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
BAP2(BHP2]
PORTS
=~
A . !
= {%— )& TYPE PORTS CODE INLET QUTLET
O BAHP2.3 + BAHP2.8 B | w0 | 13 | M | 3w | 1B | M
n40(0) / BAHP2.10 + BAHP2.22 B |« | 20 [ w [0 | 13 | M
BAH)P2..25 + BAMH)P2..30 B2 0 | 2 | m | 20 [ 1B | M
=~
LN
= Q——w : TYPE INLET OUTLET
0 A | A B 6 | a ' ¢
g g BAMP2.3+BAHIP2.8 | 38 | 14 | M8 | 3 | 10 | M8
n4Cle) BAMP2.10:BAMP2.22 | 38 | 18 | M8 | 38 | 15 | M8
I BAHP2.25 :BAHP2.30 | %8 | 20 | M8 | B | 15 | w8
gy
TN |
= Y 6- TYPE INLET QUTLET
\V\,/’ A s | 8 ' ¢
T = BAIHIP2..8: BAHPP2.10 0 | B | w| o | 1B | m
n40(o BA(HJP2..12: BAIH)P2..20 w | 19 | me | o | 13 | w
BA(H)P2..22 : BA(H)P2..28 40 19 M8 40 19 M8
BAIHP2.0 0 | 2 | | w0 | 19 | m
TS
= = &( ) TYPE PORTS CODE INLET OUTLET
e | o
! BAMP2.3:BAHP2.8 | O 0w | 65 | mw | B [ B M
n4 (o BAMP2.10:BAHP2.2 | Ff 0 | o | v | B |5 | m
BAH)P2...16 + BA(HIP2..30 5 5 | % | M | s | 1 M8




PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
PORTS
i
E._ gg)i n40(0) TYPE PORTS CODE INLET QUTLET
Fant . =
\’B;) BA(H)P2..3 + BA(H)P2...16 F2 38,1 [17.48 | 5116-1BUNC | 13 | 38.1 [17.48 | 5/16-18UNC | 13
i BAM)P2..18 + BA(HP2.20 F3 |63 [2228 | 3B-16UNC |20 [381 [17.48 | Sl16-1BUNC | 13
F2IF3IF4 BA(H)P2..22 + BA(H)P2..30 Fé 4763 223 | 38-16UNC | 20 4763 2223 | 3B-16UNC | 20
_ TYPE PORTS CODE INLET QUTLET
2 [ T A B
~ BA(H)P2..3+ BA(H)P2...6 Lo Gie Gif2
BA{H)PE,..IG+BA{H)PE,‘.30 L3 G1 G34
LOL1L3LA BA(H)P2..8+ BAMH]P2..30 14 Galt G314
§@ oe omae | me | o
_ BAHP2..3 + BAH)P2..12 RO PT1R2 PTiR2
~ BA(H)P2..14 + BAIH)P2..25 Ri PT34 PT12
RO/R1/R2 BA(H)P2...28 + BA(H)P2...30 R2 PT1 PTal4
TYPE PORTS CODE INLET QUTLET

UD/UTU2IU3

BA(H)P2...3 + BA(H)P2...28 uo 11116-12 UNF 7/8-14 UNF
BAHJP2..30 uf 15/16-12 UNF 718-14 UNF
‘BA(H)P2...3 - BA[H)P2...28 U2 7/8-14 UNF 34-16 UNF
“BA(HP2. 8+ BAH)P2..30 U3 15/16-12 UNF 11/16-12 UNF




